Enzyme Graphing Activity and Review Name k 6%

1. On the graph below, identify the products, reactants, activation energy and amount of energy

relecsed/abscorbed. Calculate the Activation Energy of each and identify it as endergonic or exergonic,
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Sketch what the curve would look like for each graph if an enzyme was used. 7 .
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2. The graph below represents the products of a chemical reaction over fime.

a. Describe what the graph is showing Productsvs. Time o ouci' ch
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3. The graph below shows the maximum rate of reaction at different temperatures
Reaction Rate vs. Temperature

12 d. Explain what experiment/data led to this graph ,
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4, The graph to the right shows how increasing the concentration of substrate affects the maximum rate of

reaction of an enzyme-cafalyzed reaction.

a. What happens after about 1.7M% Why 1

Rate of Reactionvs. Subsirate
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do you think this occurs?
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3. Lot%él each inhibitor as a compeiitive inhibitor
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6. Below are pictures of an allosteric inhibitor and an allosteric activator.

enzyme function.
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